[MTERE 9A)]
~5 MASY DB,
—AHHEANSDZTTELE (14500 FALLEDOTIE) (£, FA 29 £7-9 AFBTERBL 1. 2958,
10-12 A &AM 10. 1%h0. A 30 & 1-3 AHIR 8. 9% FA . 4-6 BHIR 9. 1% HAL D%, 7 AHMFTER
AL 11.8%E 4. 8 AHAE 6.9%iE4. 9 AHIE 0. 4%EmE Y, 7-9 BHIRTERIAL 5. 9%FL &4
271,
[(FEFI (10 )]
~% A QiELH SBEUDRM,
—HEHTEETRSIL, #4583, 330 FCHTERIALL 0. 30eiEhn, FEARFERMEBEDMBEADE. T2 F
7-9 F# 955 FF. 10-12 A#948 FF. FrE 30 4 1-3 AHI892 FF. 4-6 A 968 F7. 7-9 A# 953 FFMD#%.
10 A#A 950 FF &4 o1=,

[RRZFEEEREMEL (10 A)]
~3 M A ALY D,
— ERF R FESYS TIREMIL, AL 29 4 7-9 ARRTERLILL 3. 6%aihn. 10-12 AHIF 6. 69680, 5k 30 &
1-3 AR 4. 00etEhn, 4-6 AEARI 2. 0%, -9 AR 0. 4%k, 10 ARRIERALL 0. 196HME 15 o1,

[(R¥EE (9-10 A)]

(1) Elmiﬁhz
~r5vY (BE#H) (32 HAEGTED L, 8EIF. FEiRIE 2 ARV, 0 T F13 5 AAEH
TR L=, #ZEIE 13 AREGTEA L,
— FSuolE, HRREAEN9 BRTERALS. 6%FHL @ MAER) . EREYERESA 9 AR 4. 1%5 G H
BAAY). —#EA9 AR1.5%FL 19 MARY) Efiot,

—$kEE, 10 ARERAL 5. 1%iH4 6 A& . Bk 10 AR 2. 0% 2 MASRY). 22T+ 10 AR
1. 71%@L G MEER Lot
—finZE (FE2 %) (L. 10 BRIERIALL 9. 3%8 4 (13 MhAER Ehot-, CKMRIER AL, BRIE~A—X)
(2) EFEEE
~HmElL, B3 2 MASYISEM LT, AL T MAEETEM L -, 2=, @miE 2 hASRYICEEm L,
BAlIL2 HASRYISHEM L,
—IMIEE CELEY) (£FAR—X) (&, &@HEHA10 ARIERIALLS. 1%EMm 2 MASY), BAIZ10 AR 23.1%
B/ 0 hAER) &liot=,
—RTEEY (RFEA—R) [T, BHEA 10 BRIERALL S 6%I8M 2MASY). BAMN 10 AR 12. 9%
m 2rARY) Eorf,

[fkZ#E (9-10A)]
(1) ERE=
~8EITE. JRIZ2AAASVICED LIz, BRI 2 hAEFETIEMLT-. Z=E, 2HhBSYISEMLT-.
—#EE. JRHMI ARTERAL 1.0%EL> CHAASY), RG99 AR 0. 7%BM (42 hAER) &%
>71=,
—ffZE (134) (10 ARIERALE 1. 1%EMm C MAXRY), BEN10 AR 3%E4L @ A1 BER) . O—hILER
10 ARFS. 0% 2 MARY) Eiof=, CkAIRTERIALLIL, HERIEA—X)
(2) EFEE (ZeFset 2 4D

~EERAKLNT LS,
—10 BATERIB L 3. 4% (65 M AERD &tiof-, CARTERI AL, EERIER—R)
(84 9-108)]

~HEEBXRAHIZ, 8HhAEKTEML-, SFBNAEHIL. 20ASYIZEEMLT-.
—HEBARARIE. 10 ARTERALL 12. 8% @ N AER) . shHBSNE#IE. 10 AR 1.8%iEM 2 MASY) &7
>1=,
~RITERIEEEIE. ERNIE S MAAESETED L=, E5 % 17 MAESGTIEML =
—FERITEEOIREEIL. ERRITA 9 ARTERIALL 8. 695/ 6 MAERD . EBVRITHA 9 ARIERIALL 2. 7%
B/ (7 A&k &%ot=,




